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SSC Practice Set-8

36 men together can build a wall 140 m long in 21
days; the number of men working at the same
rate required to build the same wall in 14 days is
36 I THeTeht 140 Wi, @it €ar 21 T # &1 wahd
§, aft a7 far 14 &7 A 3t i @ a9 o & At
fora STEf &1 Savahar givit?

(a) 54 (b) 48 (c)36 (d) 18

The permietres of a square and a rectangle are
equal. If their area be 'A' m? and 'B' m? then
correct statement is

& a7t 3T d &t uiify awmEe 81 Al 37k A9 A
m? 3R 'B' m? & @ 6t & @ 872

(a@@A<B ()A<B (©)A>B (dA=B

A bought a watch for 10% discount. If he had
bought for 20% discount he would have got the
watch for Rs. 125 less. The marked price of the
watch is

fertlt =afh 4 T gt 10% F1 ge W Gl 9 a8 9
20% 1 e U @A dt W g§ 125 o HA | oA
ST @ 39 g€ @ SifRd Tod Sargu?

(a) Rs 2500 (b) Rs. 1250 (c) Rs. 3750(d) Rs. 1000

The compound ratio of the inverse ratios of the
ratios x:yz, y:zx, z: xyis:

X:yz,y:2X, 2: XYy WW'&MWW')
(@a)l:xyz (b)xyz:1 () 1:1 (d) x:yz

By selling a tape-recorder for Rs 1040 a man
gains 4%. If he sells if for Rs. 950, his loss will be
T& SUTRHTET &l & 1040 W SoF U TS Sf<h H 4% &I
oY gieT 31 A 9% 3@ ® 950 ¥ A fepan wiaema g
gIii?

(a) 5% (b) 4% (©)4.5% (d) 9%

What will be the percentage of increase in the
area of a square when each of the its sides is
increased by 10% ?

Ffe ferlt a7t @t Teh G &l 10% QT Tean < dt 3T
Seer § fad Wi 1 gfe g

(a) 20 (b) 11 (c) 121 (d) 21

Every Sunday, Gin jogs 3 miles. For the rest of
the week, each day he jogs 1mile more than the
previous day. How many miles Gin jogs in 2
weeks ?

TS (aR @l ' 3 HieT SRR &ian 8| I@TE & 99
il # a8y foo fuset faa &t smuen 1 dia Sifasw

10.

11.

12.

13.

14.

AT HIAT &1 qABU 2 arg ¥ (W4 fhaa dier st [
T 27

(a) 42 (b) 63 (c) 84 (d) 98
pr3 - q3 =(p-@lp+ q)2 — xpqlthen the value
of x is
g p3 - q® = (p-Plp + @* - xpq] A A x T AR
4 87
(a)1 (b) -1 ()2 (d) -2

. ey 1 1
On simplification the value of 1 —1 7z + —1 7z
is

1 1

Hﬁmmﬁﬂl—l+ﬁ+l_ﬁmmwm?
(a)y2V2-1 1-2V2 (©1-vJ2 (d)-2V2

A rectangle with one side of length 4 cm is
inscribed in a circle of diameter 5 cm. Find area
of the rectangle

& 4 et T e 4 At @it €, U 5 At
aTet g9 U 3iferd 81 NId &1 JA%RE FI9 ST ?
(@2lem? () 12em? (©)4em?  (d) 8 em?
ABCD is a cyclic trapezium with AD||BC. If
ZA =150° then other three angles are

ABCD & wehig "o (Svifsam) § fsad AD||BC.
® Afg /A = 150° & @t 3= dF SIT &1 ERI?

(a) £B=175°,/C =175°, 2D = 105°

(b) /B =105°,2C =75°,4D = 75°

() #/B=175°,2C =75°, /D = 75°

(d) B =105°,2C =105°, 2D =75°

If sec 150 = cosecl56(0° <8< 10°) then value of 8
is

e sec 150 = cosecl50(0° <0< 10°) & @ 6 &1 WA
T 87

(a)9° (b) 5° (c)8° (d)3°
1 1
If x=(0.252y=(0.4)2,2=(0.216)3 then
1 1
T x=(0.252y=(0.492,z=(0.216)3 & @
(@A Y>X>7Z b X>Y>Z
©Z>X>Y AX>Z>Y

Average runs scored by 11 players of a cricket
team is 23 runs. If the first players scored 113
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15.

16.

17.

18.

19.

20.

runs. Find the average runs of the remaining
players

11 GCEN &t T fohehe & 7 3fa 23 W s afc
uget TEaergt 3 113 T 941 8 @t o faenfeal & 3iraa
™ F@ Hifra?

(a)8runs (b) 12runs (c) 14 runs (d) 27 runs

If a2 = by+cz,b2 = cz+ax,02 = ax + by then the
x y z .

value of + + is

a+x b+y
i a2=by+cz,b2=cz+ax,02=ax+by g oar

Y + Y 4+ 2 wmumEm?

atx b+y c+z
(a)1
1 1

1
() =+—+=
C(zbc

c+z

b)a+bdb+c
(o

If x2 4 y2 =29 and xy =10, where

x+y
x -y
Tfe ;102+y2 = 29 3R xy =10 Tﬂﬁx>0,y>0,x>y
@ XY g A a HRa?

x =Yy
(a)-7/3 (b) 7/3 (37 (d-3/7
The ratio of circumradius and radius of an
equilateral triangle is
forelt TwaTg AYST & uiad ot St feen ® @
U gRM?
(a)1:2 (b)3:1 (¢)2:1 (d)1:3
AB is a diameter of the circle with centre O, CD
is chord of the circle, if ~BOD =120°, then the
value of ZACD is
AB Tt ga &1 =9 § TSt &= 0 81 99 @&t Sfian
CD ®\ af§ ZBOD = 120° & @ £ ACD &1 9 & §?
(a) 42 ° (b)30° (c) 60° (d)35°
A straight tree breaks due to storm and the
broken part bends so that the top of the three
touches the ground making an angle of 30 ° with
the ground. The distance from the foot of the
tree to the point, where the top touches the
ground is 10 m. Find the total height of the tree
T He 08 %M & a9ie | g€ ST 8 3R g2 W g
YT g ST @ Toh Ug &1 i WRT 9fi uX 30° &1 S®iur
ST EU g I WY H @ 2 U3 & a1 o 39 fag
Tk @i gl STel Y Wi i @t el AT R, 10 W R |

x>0,y> 0, x> ythen the value of is

U ®it HA H9T3 JA SHirTA?
(@)1043 m (b) % m
(¢)10(/3+ 1 m (d)10+/3-1)

The compound interest on a certain sun for 2
yearsat 10% per annum is Rs. 525. The simple
interest on the same sum for double the time at
half the rate percent per annum is :

21.

22.

23.

24.

ferdht Tf¥T U 109 arffes &t 2T @ 2 o @1 wehglg s
® 525 &1 St THT W T G99 & fog anfifes aX wfasa
el A U AR A feha Fm?

(a) Rs 520 (b) Rs. 550 (c¢) Rs. 500 (d) Rs. 515

If tan6 = tan30°.tan60° and 6 is an acute angle,
ten 20 is equal to

IfE tano = tan30°. tan60° 3 0 Wk IF HIUT & at 20
T HH & §?

(a) 30° (b) 45° (¢)90° (d)o0

Study the following bar graph and answer the
question. The Bar Graph gives the annual rates
of inflation in percentages for 1975 and 1987.

frafafeas a)- a1 &1 31eaaa &3 31T q9 &7 39 2|
- § a9 1975 € 1987 T Fq9id | a1 - TWhifd @i
affer X wfdaem o &t T #1

[ year 1975 1 Year 1987
40

35 I
30
25 1

20 1

i;m m

0 World Developed Third
nations world

USA UK

From 1975 to 1987, inflation rate increased in
the third world countries approximately by

ad 1975 | 1987 & sier et i & S9N o T WhIfT
H1 g F T foRat i gg?
(a) 10% (b) 20% (c) 30% (d) 36%
The change in rate of inflation was least in
which of the following
EIEhifd & Ofiacd &t feaq gT 39 8 @ &gl ot ?
(a)Developed Nations (b) UK
(c) World (d) Third word
Comparing the figures for USA vis-a-vis the
developed nation, it can be concluded that
forenTa it & TSl &t AT WY AT & ATwEr A
FH WX g e freeten s wehet ® &
(a) USA had better control on inflation
TYH TS ST T TS THifG TR aga Fa=mn o
(b) Developed nations had better control on inflation
fama 9 &1 g1 Thifa R S = o
(¢c) The inflation rate continues to be the same for USA
and developed nations

Goeh T TRl iR fashfad <o & go1 Thifq X w
S € @ 2

(d) No conclusions can be drawn
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i fofa T2 frehren s Tk @ i ¥ 1987 ® fog &t o ¥ et g & 9 W 9E
25. In the year 1987, the inflation rate in the third | Thifd ®1 T § W fha St g8 7
world countries vis-a-vis the world jumped i (a) 135% (b) 126% (c) 122% (d) 200%

approximately by
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— ANSWER KEY
1. () 2. (c) 3. (b) 4. (b) 5. (a) 6. (d) 7. (¢) 8. (a) 9. () 10. (b)
11. (a) 12. (d)  13. (c) 14. (c) 15. (a) 16. (b) 17. (c) 18. (b) 19. (@)  20. (c)
21. () 22.(d)  23.(c) 24. (a) 25. (b)
HINT & SOLUTION
Second Method : =1000 ®o = Cp
1. mldl ol m2d2 NOW,
‘wy wy Cp Sp
36x21 mgx14 1000%o 950 %o
140 140 w = 20 % 100%
1000
36 x 21 = my x 14 1 5%
36 x 21 = mqy x 14
54 = my 10% = L2 %%
10 — s (@t =)
“« B\ i Old " New
s (side) 10 11
2 § 10 11
it &t aRkfy ST i IRy &o 100 121
=20 =20 21% q@
o & &R 3TA 1 &R -
(5)2:25 —-8%x9 IfIarT & AT = 3km
A>B TAHIR HI SO =34+ 1= 4 km

Note— STe &1 3R 379d 1 IRIY sR&” 2, qa gHel
T A QARA > A T TR

3. W uEt 1 3ifdRd Jo = 100 unit
100 unit
10%%®g. 20%®8c

Sp = 90 gfte Sp = 809fte

3eere = 10 Ifte ., 125 Rs.

10gfE - 125%.
giferd Ho = 100 I = 1250 &.

4. x,yz, yizx,z: Xy
Xy  z

vz e xy
xzyzzz_%

xyz 1
=xyz:1

S. 4% T _li
25 — ep(ha o)
.. 26 — sp (faeHo)

26 1 — 1040 Fo
1040

19 —» ——
26

25?@2—>%25

=40x 25

7.4 feq (vfEr) 9% sfim
=3+4+5+...47"

:%[2><3+(7—1)><1]

AP (Fa=s)
zSn:%[zaHn—l)b]
a = 98cl 9q = 3
n = 93l &l Fo =7
d = Ga=R |19 = 1
ww—mngmwhgxlﬁﬂ

Teh IS8 W ST = 42km
2 TTE W ST = 2 42 = 84 fhtio

p3-¢®=p-{p+a? - xpg}
B WA B-
p?-¢% =(p-qlp® +¢® + pgl
(p- (% +q®+pg) =(p-9 {(p+9? - xpg
(p-@lp%+q*+pgd =(p-q [p?+q*+2pg - xpql
p2+q*+pg=p*+q* +(2-2)pq

3_

1=(2-x)
x =1
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ZC =175°
ZA+B+ 2C+ 2D =360°

SSC Practice Set-8 5
4 1 ; 105°+75+ 75+ 2D = 360°
1-4J2 1442 ! /D =105°
_ 1, 1tV2-a-42) i ZA =105°, /B = T5°,
1-2)1+2) i ZC = T5x, /D = 105°
1+/2-1++/2 !
=1+ — "= 1 12. sec156 = cosecl50
1-2 | 1 1
22 ! =3
=1+ =1-2/2 ! cos150  sin158
D ! cos150 = sin150
10 | ST -
). A B 1
:(zgg\ ! cost = sino = cos45 = sin45
S i o = 45°
° | 150 = 45°
i | 6 =3°
D 4 2eft C :
1 13. 1
ABCD = 3T ! x = (0.25)2,y = (0.4)*
OB =r= fi= i 1
_ 5 3y i Z =(0216)3
2 ! 1
DC - I &t Sirel gl i x:(0.25)2=\/i=120.5
o % %S QST T STell T o Sl ) S SR Wi | TS
T et €1 : y=(04)°=04x04=016
o ! 216
1 2:3—
i 1000
4 N i -8 _o0s
i 10
[ 1
2 O 2 ! Z2>x>y
5)2 ! :
00 = (_ _22 : 14. First Method :
21 ! 11 9= & A = 23
:\/§_4:\/25_E: 3 11 TR FFAT = 23x 11
4 4 2 = 253
BC = 2x00' = 2x > = 3em e RgeEl N SR T = 113
2 : I 10 faenfedr g0 aAT @
SEAHR Fo = DC x BC ! = 253-113
= 4x3 ! =140
= 19¢cm2 |
K" ! s = 140 - 14w
11. A D i 10
105° i
1 15. First Method :
i a? =by+cz (D)
“ . | b% = cz+ax ..(iD)
/DAB + #ABC =180° 1 02 :ax+by (111)
105+ ZABC =180° l x y z a.x b.y c.z
A D ! e 4+
5 ! a+x b+y c+z ala+x) b(b+y) clc+2)
i ax by L CZ
L L i a?+ax b2+by c? +ez
i 2,2 2
| ,b%,c® @l val (1),(2),(3 ¥ WA W
ZABC =T5° ! ¢ ‘ vatue eq.(.( )a(x) by
ol o : = +
ZB =15 ! by+cz+ax cz+ax+by
ZA+ /C =180° ! cz
105° + ZC =180° i Jrax+by+cz
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x+by+ecz

:a—:]_ I'T:n)
ax + by +cz HHAG i ST = a
Second Method : Aedgd i 1 = R
a? =by+cz,b2 =cz+ax ST g o a1 = [
¢2 = ax + by R=al/+3
Put the name get the answer __a
x=y=z=1 E:g
x y z [ 1
+ =+
a+x b4y c+z R:1=2:1
1 1 1 1 1 1
= + + =+ -+ 18.
241 2+1 2+1 3 3 3
16. x2 +y% =29, xy=10

x5y AB — ¥
First Method CD g
1rs € ° 2. 2 ABCD-—)W%%
x“+y° =29

(x+y)2—2xy:29
(x+y)2 -2x10 = 29

(x +y)2 =49
x+y="7 ..(1)
x+y)2 =x2+y%+ 2%y
x2+y2 =29 120°4x°+x° = 180°
(x - )2+ 2xy = 29 2 = 60°
(x - y)2+20 =29 2% =30°

x-»2=9 /BOD + ZAOD = 180°
x—-y=3 L) 0, 120°+ZA0D = 180°
(-2 =x2+y2 -2y ZAOD = 60°
x+y _ 7 A r o)
x-y 3 N 60,
Second Method : y s
x2+ y2 =29 D
5%+2% =29 y+y+60 =180°
%y =10 2y =120° = y = m
A AB =T o
>+ 4 ST TR = 90° A‘ B
Satisfied : ZACB =90°
x=5y=2 ZA+C =180° S
xry _5+2_7 60+ /C = 180°
-y 5-2 3 ZC =120°

ZC = ACB + ZAC =120°
90 + ZACD = 120°
ZACD = 30°
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19. First Method : i {
A i A'B+ BC
oM U AC ®, S i d
B B ¥ 2 I €, 3R ! 20 10 _30
ST 9 ST e i NERNERNC ]
(—10‘8"110—) : \/§ \/g
AA'BC H | =10+/3 o
BC !
1 _BC IR T
J3 10 i p A
10 ! 10 11
BC = — |
B i 0 om
Nouw, i 100 121
B i 21 = <shdfg =TS
' 21 unit — 525%o0
10 |
! 1 unit —)%: 25%o0
\ a0l : 21
i p— ; P = 100unit ... 2500 %o
A|B2 . BCZ +A|02 i %W(P) = 2500
:@4—102 | a(r)=%=5%
_ 100 100 i THA = 2% 2= 47
3 | o =T (ST) = 20X T XEH
, 400 : 100
AB =5 | _ 2500 5x4
L 20 i 100
AB=—7 : - 500 ®o
TS H Fe Fo i 21. tan® = tan30°.tan 60°
= AB+BC ! 1.5
R | _ﬁx 3
A'B BC i tan = 1
o @+ E ' tanb = tan45°
V3 B i 0 = 45°
_ 30 i 20 = 90°
V3 | . .
30 x 3 | 22. 1975 ¥ Had g § gErwifa = 26.6
= Bx3 ; 1985 ¥ e g # geTEmi = 36.2
| 36.2- 26.6
=103 mtr ; g = 2 x100%
Second Method : i 96
: =22 ~36%
: 26.6
i 23. world (fava) ¥ uftad=
; =16~14.6=1.4
i Developed Nations ¥ @
! =14.2-11.8= 2.4...
30° 60° 90° | ,
. . " ; Third world ® aRada
10 20 ! =36.2-26.6=9.6
== 10 o == o ! USA ¥ ufeda
V3 V3 : -12.7-10.3=2.4
e 5o — AB 4 BC : . =12.7-10.3=2.4 ...
FA S0 = ! UK ¥ uftad -
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23.56-21.7=1.8
- World (fawa) & 9fedq =1 X

= 20.33%
-~ US.A. # gfg X ifass @ 2

= = 1,431 ! . .
| 25. 1987 ¥ fava ¥ GIERI = 16
24. USA W HETOhifd &t g¥ gig i dd A (Third world) TsTEHIfd = 36.2
12.7-10.3 ! 36.2-16
=— x100% i g% = == x 100%
10.3 0 ! 0 16 0
= 23.30% : = 126.25%
Developed Nations ¥ & gfg i =126%
_14.2-118 o0 |
11.8 !
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